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2808 {1)-noienimex3 .2.0.0

e e TEIT M T @1 N o 0 &% se § |
(M + N) 3T =[7q 77 HIT 8 ?

(a) -025

() —050

(e 0

d 025

37 ¥t 3-3FhI GETRAl o1 AT T B, TSR 50
Y ST e T I 5 T8 2

(a) 9005
(b) 9540
(c) 9600
(d) 9640

afe 64, 69, 72, 75, x HT T 62 I 76 F =
(62 I 76 SMTH &) B, x 3 VI qUrter AT
& dEaT F=r Entt 2

(a) 68
(b) 69
()2
Kl 7

aH it =X T x, y, z 39 YR & 6
(x +y + z) =k, &l k T =R TN (constant) & |
?Jﬁ(x+z—y)x(x—z+y),yza?1?q'@ﬂ?ﬁ%,?ﬁ
.(y+z—x)%€%¥lﬂ1§qﬁﬁ%?

(a)

(b)
(o) i yz
d xz

e 784 1 342 ¥ 9T fe T ST R A A9EA p WaTR
TUT 57 784 T 344 T WAT f&TT 977 R A I9HA
warel (p —q)%"ﬁ?w%?

(@ 0
{b) 1
(c)= 2
d 6

6.

10.

(2-A)

N U 5-3hry orefam w8, o 2, 22, 23, 24, .., 2n
Y T e ST 2, T A9 1 AT | o A T
??

(a)s: 12
{b)si133
(o). ¢ 14
(d)i 15

p ® g W w® g fmd faw

1 p p* ~
+ + Th quifer & 2
532900 266450 523900 £
(a) 1729
(b)) =248
(©): 27
)1

qﬁaﬁ'(ﬁ,ﬂ"ﬁ%‘(ﬂx+a+b= i

ab + ax + bx

AR, W (af + o + p) ForEeh SR ® 2
(a) ab+a+b

(b) ab-a-b

(¢ a+b-ab

(d -—-(ab+a+b)

T 1-31h G N R famm hifsig | o sfifsg sa
HEIT o 37! 1 UGS P 2 | Ife N % T2T8 3% &
it # P ST, 41 89 84 W BIAT R | A N F 3h1E
3k T A P SIST G, A1 &H 60 MW BIaTe | P+N
FTAHFTR ?

(a) 100
(b)i'% K10
(O 116
()i 1120

C100L % Uk fyywr § O R ardE d

8 : 2% U | & | FHIA i et 7 =Faw 7=
(ot ) foraeft &, @ s & fireman stme dt
aftorrt fipsror 7 SO < AT 20% B ST ?

()2 10L

(b) 20L

(c) «:25:1,

d uHFTER
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A real number M is squared to give the value
N. What is the minimum value of (M + N) ?

(a) -025
(b) -0-50
c)" 0

(d 025

What is the sum of all 3-digit numbers that give
a remainder of 5 when they are divided by 50 ?

(a) 9005
(b) 9540
() 9600
(d) 9640

If the average of 64, 69, 72, 75, x lies between
62 and 76 (excluding 62 and 76), then what is
the number of possible integer values of x ?

(a) 68

(b) 69
(e a0
@ 71

Let x, y, z be variables such that (x +y + z) =k,
where k is a constant. If (x +z—y) X (x—z + y)
is proportional to yz, then (y+z-x) is

proportional to :

(8) - .%
b) vy
() yz
(d)- %z

Let p be the remainder when 784 is divided by
342 and q be the remainder when 784 is divided
by 344. What is (p — q) equal to ?

(a)
(b)
(c)
(d)

A D= O

6.

10.

(3-A)

N is the smallest 5-digit number which when
divided by 2, 22, 23, 24, ..., 2% leaves a remainder
1. What is the value of n ?

(@~ 12
(b) 13
(0 14
(d 15
What is the minimum value of p for which
2 4
1 p A ;
o t 2
532900 | 266450 & 523900 o OB
(a)y (29
(b) 243
(O 2i
(d) el
If o and B are the roots of the equation
abx

X +5a i b= , then what is

ab + ax + bx
(af + o + B) equal to ?

(a) ab+a+b
(b) ab-a-b
(¢0 a+b-ab
(d -(ab+a+b)

Consider a 2-digit number N. Let P be the
product of the digits of the number. If P is
added to square of the digit in the tens place of
N, we get 84. If P is added to the square of the
digit in the unit place of N, we get 60. What is
the value of P + N ?

(a) 100
(b)F- LD
() 115
(d).. 120

A mixture of 100 L contains kerosene and
turpentine oil in the ratio 3 : 2. What is the

" minimum quantity of kerosene in litres (whole

number) that should be mixed in the mixture
so that the resulting mixture has 20% of
kerosene ?

(a 10L
(b) 20L
() 25L
(d) Not possible



11. T oI ol U Feated @ (pole) T T@T TR | S
£ aaE & e S A S i@ m & | daE
w7 & frer arelt & et aﬁaﬁﬁ@ﬁ%wﬁ
T AT 0-7 m 3N 24 m & | A W Fa F
it foig & vy o wfid o1 gt foraft & 2
(a). - 8Sm
(b) 5m
(¢ 6m
(d) - Tm

12. T 20 cm BT & 9 &1 3% C } | T Sfam AB
e 32 cmélwmqmﬁgEsqw%ﬁa
CE = 13cm?| AE x EB fras ster £ 2
(a) 2313"'fcm
(b) 256 cm
(e) 2723"fcm
(d 2979 cm

18. T Fel (bowl) T ATk W Ueh et 7 feeam ® |
e IR | d TTEE deh STel ST ST 8, a1 STt &l T
2d e &1 3 o STt & | e S e R 0
(a) 2-5d
() 2-75d
(e) =30
(d 325d

14. PYST ABC # AB=2cm, BC=4cm 3K
AC = 3 cm & | 10T A %1 33191 (bisector) ST
BC ¥ D T AAT I B &1 fgwisieh AD & E W fiyetar
21 AE : ED fras st 2 2
(a).: B4
®)--5:3
el 43
(r-v322

15. S ABC #, i1 A %1 331 (bisector), BC &
D W Fear & | I AB+AC=10cm & a9
BD:DC =3:1%, @TACH e ®TE 2
(a) 25cem
(b) 6cm
(¢) 75cm
(d 8cm
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16.

17.

18.

19.

20.

(4-A)

P ABCH, AB + BC = 7-1 em,
BC+CA=121cm3RCA+AB=72cm?|
[ERSEIRERN S |k

(a) 8 TMem

(b) 32 Fem

(¢ 33 Fcm

(d) 33 Ffem

Toh GHIGT SIS oht ST 9T 10 cm 3R 8 cm &
3R 3 offer &1 HIOT 150° B | HHIGT TS H
& T2 ?

(a) 4043 Tt cm

(b) 40 Fcm

(¢) 203 Tem
(d) 20 ¥ em

ﬁl‘ftf ABC & &0 A 3R C % fguTsiahl (bisectors)
¥ F IV HT AT 130° R | IV B FTATHTE ?

(a) 65°
(h) . 45°
(o). 80°
(d) 85°

log; 2000 + log;, 400 + 4 log,,25 + 5 log,, 20
foreeh se & 2

(a) 10
(b) 16
le)s 48
(d 20

afx log;((100001 — 4%) iy %, 1« fFEE aer

5-x
2?
(a)
(h)#Ed
(c)x% 10

(d) 100



11. A lamp is kept on a vertical pole. The height
of the top of the lamp above the ground is
%—g m. The perpendicular distances of the
bottom of the pole from two adjacent walls
meeting perpendicularly are 0-7 m and 2-4 m.
What is the distance of the top of the lamp from
the corner point of the walls on the ground ?
(@ 8m '
() 5m
(¢) o 6:m
(d) 7m

12. Cis the centre of a circle of radius 20 cm. AB is
a chord of length 32 cm. E is a point on AB such
that CE = 13 cm. What is AE x EB equal to ?
(a) 231 square cm
(b) 256 square cm
(¢) 272 square cm
(d) 297 square cm

13. The inside of a bowl is part of a sphere. When
water is put into the bowl to a depth d, the
water surface becomes a circle of radius 2d.
What is the radius of the sphere ?
(a) 2-5d
(b) 2-75d
(e)* “8d
(d 3-25d

14. In a triangle ABC, AB = 2 cm, BC = 4 cm and
AC = 3 cm. The bisector of angle A meets BC at
D and the bisector of angle B meets AD at E.
What is AE : ED equal to ?
(a) 5.4
(b) 5:3
(e):. 43
(d)=: =32

15. In a triangle ABC, the bisector of angle
A cuts BC at D. If AB + AC = 10 cm and
BD : DC =3 : 1, then what is the length of AC ?
(a) 2:5cm
(b) 6cm
(¢} 57:5icm
(d 8cm

CEBN-T-EMT

16.

17.

18.

19.

20.

(5-A)

In a triangle ABC, AB + BC = 7'1 cm,
BC + CA=12'1cm and CA + AB = 7-2 cm.
What is the area of the triangle ?

(a) 3 squarecm
(b) 32 square cm
(¢) 33 square cm

(d) 3-3 square cm

The adjacent sides of a parallelogram are 10 cm
and 8 cm and the angle between them is 150°.
What is the area of the parallelogram ?

(a) 4043 square cm

(b) 40 square cm

(¢) 2043 square cm

(d) 20 square cm

The measure of an angle formed by the
bisectors of the angles A and C of the triangle
ABC is 130°. What is the measure of the
angle B ?

(a) 65°
(b) 2 ¥78°
(c) 80°
(d): - 856°
What is

log;, 2000 + log;, 400 + 4 log,, 25 + 5 log,, 20

equal to ?

(a) 10
(b) 16
(o) .. .18
(d 20

If 10g10(100001 - 4%)

=1, then what is x equal

5—-x
to?
@ O
(b)
(¢): 10
(d 100



21.

22.

23.

CEBN-T-EMT

e 2sinfa + 2costa—1=0, TR 0< 0 < W28,
’(ﬁsin 20 + cos 2amw%?

@ o0

b)) 1

(c)

(d)

ffoRed w fmm fifs -

6

i 1 -sin a=cos2a(cos4oc—3cos2a+3)

8

II. cosPa—sinba=

4 2

2 sin? o (1 — cos? o + sin? o cos? o)

ST § | HH-Hft T 278 2
e [

(b) FaAII

(¢ IRIIIA

(a)

(d TALALI

W 4

_ 3’ﬁ'(q=cosec6 %,?I}f
cosec 0 + cot 6

pP 2pqmw%?

@ -1
(b):0
@ 1

d 2

24.

25.

26.

217.

(6-A)

Frafafaa ol ) famm Hifse

T Wa@Wﬁ(coseca—seca)Wqﬁﬂh
AT BIATR |

II. Yo =qui # (tan o — cot o) T 7 T
SR BT & |

ITAH § | HH-A1/HH-8 Ho T /2 2

(a) FHaAl

(b) FHAAII

(¢) IIMIIIEAT

(@ FALARII

Tah TR (tower), 21X & UIE & GHF do7 (same
level) W ferd foig A T 60° 1 ivr Siafid Far 2 |
B,A % W U FHeafer foig 8 SAB = h ® | 7&K
% TS T 70 T, S8 B & AT T R, 30° R
T HT IS TR 2

(@ 2h

(b) 2:5h

() 3h

(d 3-5h

: ii’c‘fte : f‘f;e (0 % n/4) ToFEeh s R 2
(a) sin® + cos6

(b) sinB —cos6

() cosB-—sinb
(d)

—(sin® + cos0)

4cm BT F HTMF AT A GEE 1 om B |3
=TT R I o o5 X A SHIVT T TRATOT T R 2

(a)'* ‘&

(b) w2
() n/3
(d n/4



21. If2sin*a +2cos*o—1=0, where0<a<n/2,
then what is sin 2a + cos 2a eqﬁal to?
(a) O
b)- 1
© J§ +1
2
T
d P S
(d) 2
22. Consider the following :
T 1-sin® o = cos? o (cos* o — 3 cos? o + 3)
II. cosPa-sin®a=
2 sin?a (1 -cos?a + sin? o cos? o)
Which of the above is/are identities ?
(@) Ionly
(b) IIonmly
(¢) Both1landII
(d) Neither I nor IT
1
23. If p=———— and q = cosec 0, then
cosec 0 + cot 0
what is p2 - 2pq equal to ?
(a -1
o) 0
@5 =1
({6 ) s
CEBN-T-EMT

24.

25.

26.

217.

(7-A)

Consider the following statements :

i (cosec o — sec o) is always positive in the
first quadrant.

II. (tan a — cot a) is always negative in the
first quadrant.

Which of the statements given above is/are

correct ?

(a) Ionly

(b) IIonly

(¢) BothlandII
(d) Neither I nor II

A tower subtends an angle 60° at a point A on
the same level as the foot of the tower. B is a
point vertically above A and AB = h. The angle
of depression of the foot of the tower, measured
from B is 30°. What is the height of the tower ?

(@ 2h

(b) 2:-5h

(0 3h

(d 3-5h

What is pios R 4 (6 # m/4) equal
1—cot6 1-tan6

to?

(a) sin6 + cos6

(b) sin6 —cos6

(¢) cosB—sinb

(d) —(sin6 + cos0)

The length of an arc of a circle of radius 4 cm is
n cm. What is the magnitude of the angle
subtended by the arc at the centre ?

(@) =

(b) w2
() n/3
d n/4



28.

29.

30.

¢ cot20— 343 cot 6 + 6 =0, aﬁ%s(k% 3,
@ sin 6 + cos 20 FT A FTR 2
(a 0
(b) 1
© B
@ 1T4+J2
FraferRaa & & SF-a/HH-8 gl v 278 2
L sin29=w,aﬁx,ymm
4xy
rEdferes TRETE |

II. sin®+cosO=x+ l,aﬁ x UF YACHF
X

IR TRTR |

i o T e T s R wE S g
e 1

(b) ¥ II

(¢ IARIIA

TALARI

(a)

(d)

3

afe et

0<9<%'%,?ﬁ(m2+nz)cose—(mz—nz)cote

forores st ® 2

m?(sin 6 - 1) +n2(sin 0 + 1) = 0,

(a) 4mn
(b) 2mn
e 1
(dy=.0
CEBN-T-EMT

31.

32.

33.

34.

35.

(8-A)

?Iﬁ:'sina+cosa=\/—2-,31ﬁ0<a<% g
sin® o — cos® o foEeh e R 2

fahies <1
(b) 172
() 14
@y 0

(1 + cot o — cosec o) (1 + tan o + sec o) foraen
TR ?

(a) 172
by I
o) 2
@ 4

sin o + cos o

ARV E, N /2 sin 6 e SRR 2

(a) sino-—cosa

amane=ﬂna_-c<>s_a,aﬁeam(a¢gj

(b) sinoa+cosa
() cosoa-—sina

@
o % foe ATt o forg =ieren

(sin o + 2) (sin.a + 4) (sin o — 2) (sin o — 433

EEICER

(a) IS AR TR
(b) TH

¢ @

(d)

+ (sin o — cos @)

RS 108

X FTAAFTE, T&l 0<x<30°8, S
tan 3x tan 6x = 1 ! HJE FATR ?

(a) 0°

(b) 10°
162 1%
(d 15°



28. Ifcot?0 — 33 cot O + 6 = 0, where %59< %,
then what is a value of sin 6 + cos 20 ?
(a 0
(b) 1
© B
@ 1+42
29. Which of the following equations is/are
possible ?
L sinZ 0 = (x_+y_)2_ , where x, y are positive
4xy
unequal real quantities.
II. sinB+cosb=x+ i , where x is a positive
real quantity.
Select the correct answer using the code given
below :
(a) Ionly
(b) IIonly
(¢) BothIandII
(d) Neither I norII
30. If m®2(5in6-1)+n?(sin @ + 1) = 0, where
0<06< —;—, then what is
(m? + n2) cos 6 — (m% - n?) cot © equal to ?
(a) 4mn
(b) 2mn
(e 1
d 0
CEBN-T-EMT (9-

31.

32.

33.

34.

35.

A)

Ifsina+cosa=ﬁ,where0<a<%,then

what is sin® a — cos® o equal to ?
(a)".

(b) 172

() 14

@ o

What is (1 + cot o — cosec a) (1 + tan o + sec a)

equal to ?
(a) 12
(b)
(c)
(d)

T g Sin a — Cos o .

- where 6 and o
sin o + €os o

(a = %] are acute angles, then what is \/2sin®

equal to ?
(a)
(b)
(c) cosoa-sina

(d)

sin o — cos o

sin a + cos a

+ (sin o — cos a)

For how many values of o does the expression
(sin o + 2) (sin o + 4) (sin o — 2) (sin o — 4)

become zero ?

(a) No value
(b) One

(c) Two

(d) Four

What is the value of x, where 0 < x < 30°,
satisfying tan 3x tan 6x=1?

(a): 0P

(b) 10°
() et
(@ 15°



36.

317.

38.

.39.

40.

(a —b)? (b —c)?
b-o(c-a) = (c-ala-b)
(c—a)?
@-bb-c
%H%W%,ﬁﬁa;eb;tc?
@ o0
b)) 3
(¢ a+b+c
(d 3(a-b)(b-c)(c—a)
o T %ﬁ; 100x99x$?§);<l;..x3x2x1 wF

quifsh & | n T ged 9 4 @ e forg 7 v
??

(a) 20
(b) 21
() 24
(@) ST H A RIS T

Teh SAfR 3 M P & ST Sd g fewm 1 37
xrﬁa(x>120m)ﬁajraaﬁaﬂtﬁwazam
e it 37 g 7T | 36 WE 97 40 m HreT T IR
T i fomm it 3T g 7T | 399 91E 9€ 60 m
T T T WIH Q W UG | Ik A6 T WM
Q & I faw & 200 m 1 G T FTH WH R T
I | AfE PR = 200 m 2, T x ok sRIsRC & ?
(@) 150 m

(b) 180m

() 200m

(d 240m
?Iﬁx2+y2+z2=3,7‘tl%T°x,y3ﬁ'{zqc'\UTﬁ%,?ﬁ
(xy+yz+zx)ai%aﬁqﬂ'5:fm§?

(a) Tk
(b) @
() dH
(d =R
Ife x, y, z IRdEs AW W OYER 2§ TR
x+y+z=103ﬁ‘£xy+yz+zx=18%,?ﬁ

3 +y3 + 28 - 3xyz FIAAFTR ?

(a) 400
(b) 440
(¢) 460
(d) 500
CEBN-T-EMT

41.

42.

43.

(10-A)

J17-4J15 + (8-215 FFehaer? ?

3

b) 23

© 2G5-43)
2 (/5 ++/3)

(a)

(d)

Tl 36, 33, 30, 27, 24, ... % ANTHA H
fRehaH T TR 2

(a) 240

(b) 237

(c) 234

d 231

m 3 n (m > n) 3 THF T E | m T 12 9
T 3 T Y% 4 T&T & AT n 3l 12 F 9T 3 T
IF 6 Tear © | Frefafaa oAt § & S9-a1
- R 2

I (m+n) 12 ¥ 97T 3 T IATHS 10 T |
II. (m—n) 12 ¥ 9FT 3 T IATHA 10 & |
e faw T e T T R A ST g
Fad 1

(b) A I

() I3MIIZNT

(a)

(d TALISI



36. Whatis
(a - b)? (b - ¢)?
b-oc-a  (c-a@-b
. ewaks
@-b)(b-c)
equal to, wherea#b#c?
(@ O
(b) 3
(¢ a+b+c
(d 3(a-b)(b-c)(c—a)
$7. Given that 100x99 x 98 x...x3x2x1 i
100"
integer. What is the largest value of n for which
this is true ?
(a) 20
{b)s 2
() 24
(d) None of the above
38. A man starting from a place P went x metre
(x> 120 m) East before turning South. He went
40 m straight before turning to West. He went
60 m to reach a place Q. From Q he went 200 m
North and reached a place R. If PR = 200 m,
then what is x equal to ?
(a) 150m
(b) 180m
(¢) 200m
(d 240m
39. Ifx%+y2+2z2=3, wherex,yandzare integers,
then how many values can (xy + yz + zx) have ?
(a) One
(b) Two
(¢) Three
(d) Four
40. Ifx,y, z are real numbers such that
x+y+z=10 and Xy + yz + zx = 18, then what
is the value of x3 + y3 + 23 — 3xyz ?
(a) 400
(b) 440
(c) 460
(d 500
CEBN-T-EMT

41.

42.

43.

(11-A)

What is /17— 4415 + (8 — 215 equal to ?
(@) <3

b 243
© 2G5-8)
@ 256 +3)

What is the maximum value of the sum of the
numbers 36, 33, 30, 27, 24, ... ?

(a) 240
(b) 237
(0 234
(d 231

There are two natural numbers m and n
(m > n). When m is divided by 12, it leaves a
remainder 4. When n is divided by 12, it leaves
a remainder 6. Which of the following

statements is/are correct ?

I The remainder when (m + n) is divided by
12 is 10.

II. The remainder when (m —n) is divided by
12 is 10.

Select the correct answer using the code given
below :

(a)
(b)
(¢ BothIandII

I only

II only

(d) Neither I nor II



44.

45.

46.

47.

CEBN-T-EMT

ME+y:y+2:(z+x=3:5:63
x+y+z=148 A x2+y2 + 22 fFaF = 2 2
(a) 81

(b) 84

e 87

(d 90

31 HEATRAT % ANTHS I I wEAnstl & AW H
A5 : 1 2 | I HEATST 3 1 T AThe SR 3
HEITHT & T ah AL HT S FT 2

(a) 13:5

(h) =2 2571

c0 9:4

@) 1621

Ush STtk U TTHT =Tl & 3/591 91el & T I
20 e 30 & ugera @ | 3 98 St wm = |
T &, ar e gH e 2

(a) 25fFe
(b) 30fFe
© 32fme
d 35fFe

2P _ 131 p | YT 3 T 9T SI9%eT AT, & p > 5
T ST TEAT R 7

a1

b 2

fe) '8

d 4

48.

49.

50.

(2=

243 — 16° — 83 % UGS il AT HTR ?

(a) 33
(b) 30
(e). 28
d 24

foreft e Tl T 20% =ewafe et (afe s wfer ad
G ) O T STt =2 Ut At ot S
Beft, Forer 7 emafr At @ sfer & st 2
(a) 2

(b) 3

(0 4

d 5

T forret s ot 3 g x feiTs o foreft e Rt ot
Y YR R H T T T ¢ ] | S S g aEE
=TT &y TIITS oh o) gE R 1 gt &9 & U
T T T W 2t ¥ | 39 3 5 (x + y) e &
fordt Rvm it Of ®9 & 9R FA F fFa
U

(a) @yt+xt)/(y—x)
(b) (yt+xt)/(y—x)
() @Byt—xt)/(2y-x)

d @yt-xt)/(y-x



44.

45.

46.

47‘

CEBN-T-EMT

If x+y):(y+2):(z+x)=3:5:6 and

X +y +z = 14, then what is x2 + y? + z2 equal
to ?

(a) 81
(b) 84
e 87
(d 90

The ratio of sum of two numbers to their
difference is 5 : 1. What is the ratio of the sum
of their squares to the difference of their
squares ?

(@) 135

b)), 25:1

(@ 9:4

@ 16:1

Travelling at 3/5% of his usual speed, a man is
late by 20 minutes. What is the usual time if he
travels with his usual speed ?

(a)
(b)

25 minutes
30 minutes
(¢) 32 minutes

(d) 35 minutes

What is the remainder when 2P — 1 is divided
by p, where p > 5 is a prime number ?

oyl

(b) 2
(e 3
d 4

48.

50.

(13-A)

What is the number of factors of
243 - 163837

(a) 33

(b) 30

() 28

d) 24

What is the least number of complete years in
which a sum of money put out at 20%
compound interest (compounded annually) will

be more than doubled ?

(a) 2
(b) 3
© 4
d 5

A train of certain length takes time t to pass
completely through a station of length x. The
same train with same speed takes time 2t to
pass completely through another station of
length y. What is the time taken by the train to
pass completely through a station of length
x+y)?

(a) @yt+xt)/(y-x)

(b) Gt+xt)/(y-—x)
() (Byt-xt)/(2y-x)

@ @yt-xt)/(y-x)



377 37 T @1 (02) I F for famferfad w
fa=IR Fiforg -
U el ¥ (right cone) % =1 (frustum) & 3§

%1 5418 2k, U< (bottom) T SATH 2-5k 3R =g k
4

51. foo=Teh =1 wqut qEtT Sahet T @ 2
(a) 39nk%8
(b) 41rnk%8
() 43nk%/8
(d) 457k%8
52. S~ FTA—THA TR ?
(a) 61nk%48
(b)  59nk?/48
(¢) 57nk%48
(d) 53nk3/48
37 37 FIS g (02) TN F foru fAmferfad @«
faam #ifsw :
s ABC & ®IUT B @HhI0T @ | Pyt o1 i
24 cm PR T ST & ANTHS R FH91 & sl H
FR4em?
53. PNt ABC &1 &%t F1 8 ?
(a) 18 T em
(b) 24 T em
(¢) 36T cm
(d) 48T cem
54. e H U 99 Si@id (inscribed) # | 38! Brsam
27
(a) 1cm
() 1-5em
(¢ 2cm
d 2:5cm
CEBN-T-EMT

55.

56.

57.

58.

(14-A)

T A 91 7 (02) I F forg FAEfiad ®
fareiR #iforg

8 cmﬁ@TW@aﬁfM, 16 cmﬁ@T%@aﬁﬂﬁ
N 1 aTel &9 & T91 LT & | 7 wfiore P, Q foig
&, Stef Swafe vl T e 99 M 3R g9 N &t
9 Al @ |

Ay Wi @ PQ il SeE R R 2
.(a) 16cem

() 16V2 em

(e) 24 cm

(d 2442 em

A g M RN FFE T U, VE @ fsig P, Q, V

3R U ST T S T &l 18 ?
(a) 19242 & cem

(b) 192Fcm

(© 9642 T cm

(d 96T cm

3T 37 AT Y (02) TN & T FFferiad ®
farm #iferg -

st ABC %1 9fT 105 cm @ | ¥fiieis AD, BE
3R CF #HTHIA3:5:62 |

AB : BC : CA foraer stee 2 2

(R)¥<10:6:06

(b)i = bi: 10::.6

(e)©#6:5:8

d 3:5:6

ISt ABC o1 |f~Tohe & T € 2
(a) 1753 cm

(b) 190 & cm

(¢) 2057 cm

(d 2853 cm



Consider the following for the next two (02)
items that follow :

A frustum of a right cone has a top of diameter
2k, bottom of diameter 2-5k and height k.

51. What is the whole surface area of the frustum ?
(a) 39nk%8
(b) 41nk%8
(c) 43nk%8
(d) 457k%8

55.

52. What is the volume of the frustum ?
(a) 61nk%/48
(b)  59nk3/48
(¢) 57nk%/48
(d) 53nk%/48

56.

Consider the following for the next two (02) items
that follow :

ABC is a triangle right-angled at B. The perimeter
of the triangle is 24 cm and the difference between
the sum of the perpendicular sides and the
hypotenuse is 4 cm.

53. What is the area of the triangle ABC ?
(a) 18 square cm

517.

(b) 24 square cm

(¢c) 36 square cm

(d) 48 square cm

54. A circle is inscribed in the triangle. What is its
radius ? } 58.

(@ 1lem
(b) 1-5cm
() 2cm

(d 25cm

CEBN-T-EMT (15-A)

Consider the following for the next two (02)
items that follow :

A circle M of radius 8 cm touches externally
with another circle N of radius 16 cm. Let P, Q
be the points where the common tangent
touches the circles M and N respectively.

What is the length of the common tangent PQ ?
(a) 16cm

(b) 1642 cm
(c) 24 cm
d 2442 ecm

If U, V are the centres of the circles M and N
respectively, then what is the area of the
quadrilateral formed by the points P, Q, V and
Ue?

(a) 192J§ square cm

(b) 192 square cm

() 9642 square cm

(d) 96 square cm

Consider the following for the next two (02)
items that follow :

The perimeter of a triangle ABC is 105 cm.
The altitudes AD, BE and CF are in the ratio
34D 268

What is AB : BC : CA equal to ?

(@ 10:6:5
() . 5:10:6
(¢ 6:5:8
(d)". 3251206

What is the approximate area of the triangle
ABC? :

(a) 175 square cm

(b) 190 square cm

(¢c) 205 square cm

(d) 285 square cm



59.

60.

CEBN-T-EMT

T 37 T 7T (02) T F forg fmferfad w
TR FHorg :

T 20 cm AN BT % Tieet Mot & S0 el
i QifcisT T A HTH Teh FA ST T E | 5 bt
F9%30 cm ¥ | :

W yHR fffd sda F Mo 7@ (circular

~ opening) F iafi BRI 2

(@ 10¥2 cm
(b) 15cem
(¢ 1043 ecm

(d 12cm

et % F5 R MATHR Hd (circular opening) £
e fRere el fig o Sive¥ el e 7 % &
TS ST U HEATER 1T oh |1 ST T h10T
g2
(a) n/3
(b) m/4
() /6

(d /12

61.

62.

63.

(16-A)

- (b)

1 T A1 7T (02) TN % fore feferfad w
farem FIforg

T Bt & forerht oing £, e b s I=E h R | Bt
o it fobgt a1 feigadl (7 <fifore P 3l Q) % of=r
ot Tfrehe gll 14 m , elfeh ¥ (floor) a1 feigadt
@M ST P 3R R) & sfta A sfereran b
656 m®|

ERER NS A

(@) 35m

(b) 4m

(¢ 45m

(d  5m

Jfe P 31 Q I SiTe aref T, 997 P 3} R A Sire
Tt T o = T I o, B, ¥ cos o FoFEah e
27 .
(@) @
35
.

(c)
(d)

3T 3 TR N (02) THII B Torg Fmferiaa w
faam #iforg -

TF G @ (box) o Tkl (sides) T HIETS
0-5 cm TAT U< (bottom) 3T HIETE 1 cm & | S &t
TR TalTs, TNeTE SNTITES (depth) HAIT: 14 cm,
10 cm 3R 8 cm & | T& et & 0 &9 & WA GATR |

s |t ST asi 2000 kg i o Hiex &, aF s

LN o

S H ST ol TS AT T IS fhRaT & 2
(a) 360gm
(b) 365gm
(¢) 720gm
(d 730gm

IS ST 1 I 1000 kg Ifd o Hiet 8, siet wfea
ST T IS fohaAT 8 2

(a) 1850 kg

(b) 1900 kg

(¢) 2050kg

(d 2100kg



Consider the following for the next two (02) items
that follow :

A pot is made from a hollow sphere of inner radius
20 cm by cutting its upper portion horizontally.

The height of the pot is 30 cm. 61.

59. What is the inner radius of the circular opening

of the pot so formed ? 62.
(@ 10J2 cm

(b) 15cm

(¢ 1043 cm

(d 12cm

60. What is the ahgle made by the line joining the
centre of the sphere and any point on the rim of 63

the circular opening with a vertical line passing

through the centre ?

(aj /3

(b) /4 "
() n/6

(d) /12

CEBN-T-EMT (17-A)

Consider the following for the next two (02)
items that follow :

Ahall is of length , breadth b and height h. The
maximum distance between any two points
(say P and Q) inside the hall is 14 m, whereas
the maximum distance between two points (say
P and R) on the floor is 65 m.

What is h equal to ?
(@) 35m

(b) 4m

(c) - 45m

) 6m

If o is the angle between the line joining P and
Q, and the line joining P and R, then what is
cos a equal to ?

25
(a) ?

+ 3.5
(b) 9
1
(c) =
2
(d) g

Consider the following for the next two (02)
items that follow :

The sides of an open box are 0-5 ¢m thick and
bottom is 1 cm thick. The internal length,
breadth and depth are respectively 14 cm,
10 cm and 8 cm. It is completely filled with
water.

If the material weighs 2000 kg per cubic metre,
then what is the weight of the material used in
the construction of the box ?

(a) 360gm
(b) 365gm
(¢) 720gm
(d) 730gm

If water weighs 1000 kg per cubic metre, then
what is the weight of the box with water ?

(a) 1-850kg
(b) 1-900 kg
(¢) 2050 kg
(d 2100kg



65.

66.

67.

CEBN-T-EMT

T 37 FT 7Y (02) T F forg FEferad ®
far=R #ifg -

RS ABC # %101 A G510 ? | 31, AB = 8 cm,
BC = 10 cm ® | ST BC WU foig D 30 YR & 6
AD,BC TR |

AD fores ateR g 2

(a) 4-8cm

(b) 50cm
(¢ 52cm

(d 54cm

S ADC % &%et %1 Bryst ADB & &%a &
HAEFATE ?

(a)e 715

(b)  9:16

&) 23

(d).. 3.4

T A qTet 3 (02) THI F forg FAeferfad ®
farem #iferg :

T T T 118k a1 1 919 40 cm B | 57 7 TS
1 8w el s e R |

ot 6T ST, T T SR R PR R 0

(a) 40
(b) 400
(c) 4000

(d) 40000

68.

69.

70.

(18-A)

T e i § g8 anfies ol % i wh ase (Afg
) fra g 2

(a) 40

(b) 400
(c) 4000
(d) 40000

3T 3 F1 Y (02) TN F forg FA=fIfad W
o= #ifere

T YT 9% (conical body) T 3T T 120°
g

iR g <ht o ot Sueht fatast s & srquma

FATE?

D sy

) 3:1
(e SR
@ 2 51

e fregt 3=, = o B &+ dvwe
(9 + 3y3) cm ®, T 7% T ITAGH FATE 2

(a) 27n¥9cm
(b) 183 n ¥ cm

() 24n99cm

(d 2737 cm



65.

66.

67.

CEBN-T-EMT

Consider the following for the next two (02)
items that follow :

ABC is a triangle right-angled at A. Further,
AB = 8 cm, BC = 10 cm. D is the point on BC
such that AD is perpendicular to BC.

What is AD equal to ?
(a)
(b)
(c)
(d)

4-8 cm
5:0 cm
52 cm
54 cm

What is ratio of area of triangle ADC to area of
triangle ADB ?

(a)
(b)
()
(d)

7o 15
916
2:3
3:4

Consider the following for the next two (02)
items that follow :

The annual rainfall at a place is 40 cm. The
weight of water is 1 metric tonne per cubic
meter.

What is the volume of rainfall in cubic meter

per hectare ?
(a) 40

(b)
(c)
(d)

400
4000
40000

68.

69.

70.

(19-A)

What is the weight of water (in metric tonnes)
of annual rainfall falling there on a hectare of

land ?

(a) 40

(b) 400
(c) 4000
(d) 40000

Consider the following for the next two (02)
items that follow :

The angle at the vertex of a conical body is
120°.

What is the ratio of the radius of the conical

body to its slant height ?
(@), 128

b B:1

(o7 852

@ +2:1

If the sum of slant height, height and radius is
9+ 3\/5 ) cm, then what is the volume of the

cone ?

(a) 27z cubic cm

(b) 183 & cubic cm
(¢)  24n cubic cm

(d) 2743 r cubic em



71.

72.

73.

74.

75.

CEBN-T-EMT

U Sk 3% X 1 € 34,500 H S=idT § AR 15% v
AT 2 | T8 I Y I 10% I T W A=aqr 8 | 39
(e I 3 G HF-aT o et ToreTeRt 7 shis &1
Bl 2, 7 €1 IS AT 1T 8 | S Y B forshar oot
q?

(a) %40,000

(b)  %40,500

(©)  ¥41,000

@ 51,500

100 e, 10 Az &7 &1 forar afqea @ 2

(a0 1%

() 10%

(e) * 100%. -
(d) 1000%

T I U AHTg RSt # ST (inseribed) & | 910
1 BreaT 2 em ® | Brye =7 S T 8 2

(a) 12J§ T em

(b) 12 cm

() 9v3 T cem
(d 9 fcem

we Bt it el k, 1-5k 3R 2-25k € | e
ATfeIeRI3T (medians) & 31 ST JTH fohaT 2 ?
(a) 359k%/64

(b)  379k%/64

(c) 389k%/64

(d) 399k?%64

IfE2s=a+b+c §,
1 1 1 1}
+

s(s—a)(s=b) (s—c) [s +

foreres sTe 2 2

(a) abc

(b) 2abc
(c) 4abc
(d)

ab + bc + ca

76.

71.

78.

79.

80.

(20-A)

% 10,000 3T TRT 4% AT A X W & a9 o
Rt & s, afe s ydw four § wehew
TSI BT ® 2 (\fhe 7H o)

(a) ¥10,406

(b) ¥10,416

(c) 10,426

(d) 10,436

afg p = 009 8, A 70p2 + 43p — 5 HT HA FT
BRI 2

(@ -1

(b) 0

(ks 8 §

(d 10

2101 35} 101 & 9T 3 9T SN &RIT SR 2

(a):«
(b) 2
()« 5
)9

I p (= 0) 3 q (= 0), THFOTx2 + px+q=0 &

q@%,ﬁﬁ + q2ﬁ:aaaaw% i
(a) &2
(b) 3
(0 4
d 5

E’FﬁWx2+px+q=03ﬂ'(x2+qx+p=0
(p;eq)ﬁ@@i'qﬁ'gﬂ;ﬁ(common root) 8 1 (p + q)
FHAFTL ? '

(a -1

(b) 0

()

(d): 2



71. A person sells article X for T 34,500 and makes
a profit of 15%. He sells article Y at a loss of
10%. He neither loses nor gains on the whole
because of these two transactions. What is the
selling price of article Y ?

(a) ¥40,000
(b) ¥40,500
() T41,000
(d ¥51,500

72. 100 quintals is what percent of 10 metric

tonnes ?

(@ 1%

(b) 10%
() 100%
(d 1000%

73. A circle is inscribed in an equilateral triangle.
The radius of the circle is 2 cm. What is the area
of the triangle ?

(a) 1243 square cm
(b) 12 square cm

(¢) 93 square cm
(d 9square cm

74. The sides of a triangle are k, 1-5k and 2:25k.
What is the sum of the squares of its medians ?
(a) 359Kk?%/64
(b) 379k%/64
(c) 389k%64
(d 399k%64

75. If2s=a+b +c, then what is
s (s—a) (s—b) (s—c) [ e S _1]

s—a s-b s-c s
equal to ?
(a) abc
(b) 2abe
(¢c) 4abc
(d) ab+bc+ca
CEBN-T-EMT

76.

77.

78.

79.

80.

(21-A)

How much will ¥ 10,000 amount to in one year’s
time at 4% rate of interest per annum if the
interest is compounded once in every three

months ? (take approximate value)

(a) ¥10,406

(b) 10,416

() %10,426

(d ¥10,436

If p= 009, then what is the value of
70p%2 +43p-57?

(a) -1

(b) 0

@)k

(d 10

What is the remainder when 21%1 is divided by
1012 ;
(a)
(b)
()
(d)

SO R

If p (# 0) and q (# 0) are the roots of the equation
x2 + px + q = 0, then what is p? + q? equal to ?
(a). 52

(b) 3
() 4
(@ . B

The

x% ¢ gx + p =0 (p#q) have a common root.

What is the value of (p + q) ?

equations  x2 + px +iq =0  and

(a) -1
(b) O
(o) "
(d) 42



81.

82.

83.

84.

85.

CEBN-T-EMT

Ffext—px2+q T T TGS x2-5x+4%,dp
3 q & | SHETT; FTE 2

(a)= 1716

(b)) 16517

(c)»« #B¥16

(d 16,15

Ife < fgoma @i px® + px + 4 = 0 3N
x2+qx+q=0 F IS A2, A p +q
foperh s 2 2

(a) -3

(b)) -2

()~ 40

(d) =3

El§q?{x8+x4+13ﬁ'{x4+x2+13ﬁTHCFW%?
)i

® =x*-x2+1

@ xt¥x2 41

(d)

xt St 2

T g6 1 T 919 AB, I & g O T x (S 07

Jifta tar | afe Bea@e AOB &t &%, =g

AB i &elTE & a1l % 3T % SR 8, aF x fheeh

TR R 2

(a) 1/4

(b) . /2

{ch- 1

@ 2

TSI TS p 3R o & Heiwr | Fferfad swemi w

feam fifse

I. 9T LCM §d U fow & et |

II. 3% LCM 3T HCF &l JT%hel ¥ed Uk |9
T Bt |

I | H HH-H1/HE-H FHI el /8 ?

(a) FaAI

(b) FaAII

(¢) I3MRIISF

(d TALADII

87.

88.

89.

90.

(22-A)

377 31 F1S g (05) TN & o7 fAeferfga @
forem Fifsra -
X % 205 Y07} ST SRIET sied A9 fear man @

X 3 5 6 7
AT f+2 f-3 f+6

fHRTAFAFTR ?
(a) 50
(b) 60
{0270
(d 80

STCETRAT se sl AITeTeR T 8 2

(@) 3
®) 5
(e):6
(d) feug e & 3@ Feifea & foram st aekar

FIRAT S2 T Tgah FT 8 ?

(a 5

(b) 6

w7

(@ fow e er & & Frerifa e foram S wear

X & SORRAT s % o waiferss 3y st
@) e | R 2

(a) <% 3MNW (Bar diagram)

(b) 3TEAfe (Histogram)

(c) wmagga (Frequency polygon)

(d) 99 ANG (Pie Chart)

STCRITCAT S o1 HIET T 2

(a) 329
(b) 429
(@) i~ 5:29
(d 629



81. Ifx%-5x + 4 is a factor of x4 — px? + q, then
what are the values of p and q respectively ?
Ay 17016
(D)5 16,17
(e)i: ~15,16
(d) - 16,15

82. Iftwo quadratic equations px? + px + 4 = 0 and
x? + qx + q = 0 have a common root 2, then what
is p+q equal to?
(a -3
(b) -2
(e) 50
d 3

83. What is the HCF of the polynomials x& + x* + 1
andx*+x2+1°?
(a): <1
b xt-x*+1
© xt+x2+1
@ x*-x*-1

84. Anarc AB of a circle subtends an angle x radian
at the centre O. If the area of the sector AOB is
equal to half of the square of length of arc AB,
then what is x equal to ?
(a) 1/4
(b) 172
(Qgesa |
d 2

85. Consider the following statements in respect of
prime numbers p and q :
1 Their LCM is always an odd number.
II.  Sum of their LCM and HCF is always an

even number.

Which of the statements given above is/are
correct ? :
(a) TIonly
(b) II only
(¢) BothIandII
(d) Neither I nor II

CEBN-T-EMT

86.

87.

88.

89.

90.

(23-A)

Consider the following for the next five (05)
items that follow :

The frequency distribution of 205 observations
on X is given below :

X 3 5 6 7

Frequency i f+2 | f-3 | f+6

What is the value of f ?

(a) 50

(b) 60

() 170

(d 80

What is the median of the frequency

distribution ?

(a). 23

(b) 5

(c) =46

(d) It cannot be determined from the given
data

What is the mode of the frequency

distribution ?

(a) 5

(b) 6

(e)s<ad

(d) It cannot be determined from the given
data

What is the most appropriate graphical

representation of the given frequency
distribution of X ?

(a) Bar diagram

(b) Histogram

(¢)  Frequency polygon

(d) Pie Chart

What is the mean of the frequency
distribution ?

(a) 3:29

(b) 4-29

(c) 529

(d 629



3771 37 g7t 2 (02) TN % fore ffefaa @ |

faraR #Ifer -
ferenfofat grr Siirsht forwar i weh wlie & ww teRi &
SR sfe i feam man 2
THi forenfelat <t e

40 TFT 50

50 §FH 125

60 §F 210

70 HF 315

80 HFH 350

3 faenfiiat &t e forat 8, f8iv 60 70 %

91.
e 37 9N fohu 2
(a) 105
(b) 110
() 205
d 210
92. 39 farnfiat i den forat 8, e 50 & =1fe
3k W TR 2
(a) 100
(b) 125
() 200
(d 225
CEBN-T-EMT

93.

94,

95.

(24-A)

377 1A aTet T (03) I & fore fAmforfeaa w
fa=r FfSrg :
4= sWER-wE (A, B, C, D, E) &t uie aui &
THR-GEAT (circulation) TsiEt 317hg (zwrr{‘r ) EIE]
fgmd:

T | A B C D E
2019 | 20 | 10 15 8 20
2020 | 12 12 1878 19 12
2021 | 24 | 14 17 14 15
2022 | 26 10 16 15 9
2023 | 22 16 14 | 16 11

fow e st @, Fre /e o & GRS D
yaR-gE, gt aul % eehl NEd TeR-EE F
e oft 2

(a) 2020 3K 2021
(b) 2022 37K 2023
(c) had 2022
(d) Hae 2020

2019 & 2022 % fFE O ¥, GAER-GA D H
TAR-GETT, 39 9Y & oo g f hEd
THR-EET & e oft 2

(a) 2019
(b) 2020
(c) 2021
(d) 2022

(individual newspaper) &1 NEa yEr-aET, gt
QHTER-T3T sht 3Trea SaR-Ee & At off 2

(a)
(b)
(©
(d)

i



Consider the following for the next two (02)

items that follow :

The frequency distribution of marks obtained

by students in an English examination is given

below :
Marks obtained Number of
: Students:
Below 40 50
Below 50 125
Below 60 210
Below 70 315
Below 80 350

What is the number of students who scored

91.
between 60 and 70 marks ?
(a) 105
(b) 110
() 205
(d) 210
92. What is the number of students who scored
more than 50 marks ?
(a) 100
() 125
() 200
(d) 225
CEBN-T-EMT

93.

94.

95.

(25-A)

Consider the following for the next three (03)
items that follow :

Circulation figures (in thousands) of different
newspapers (A, B, C, D, E) for five years are
given below :

Year A B C D E
2019 | 20 10 15 8 20
20200 122717 12 18 12 12
2021 | 24 14 17 14 15
2022 | 26 10 16 15 9
2023 | 22 16 14 16 11

In which of the given years was the circulation
of the newspaper D close to its average
circulation over all the years ?

(a) 2020 and 2021

(b) 2022 and 2023

(¢) 2022 only

(d) 2020 only

In which of the years from 2019 to 2022 was the
circulation of the newspaper D close to the

average circulation of all the newspapers in

that year ?
(a) 2019
(b) 2020
(c) 2021
d 2022

How many cases are there in which average of
the circulation for an individual newspaper was
more than the average of the circulation of all
the newspapers ?

(a) One

(b) Two

(¢) Three

(d)

Four



377 377 FTet AT (03) FFI9N % fore fAmferfaa
faam #ifsra -
ifohd I SN@I (Pie Charts) &1 3ITeATH
e
3@ (Chart)-I : =X I E&AT: 1,20,000
98.
NG (Chart)-II : SHEEAT : 21,00,000
R Tl § & 9T
o i e ,ﬁﬁ b
99.
i
......... e
o @ e
3@ (Chart)-III : IRERT < &1 : 3,60,000
wa%gﬁﬁmﬁmé
FRGH e
A A 731'&'“%@
T dmraE
X 100.
-
96. T UFh B H {@ aTel AR (persons) it 3d
& fRat 2 2
(@ 8
(b) 854
(c) 954
@ 754
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97. Ife 5000 31fafce F=a =l & FAATor FEwET ST,

uT¢ 9181 (Pie Chart-I) § sed = & foTT sior &

gfetere aftads feraar g 2
@ 112
(b))% 13
(¢ 15°
(d)es 23°

Ifg e Juft & 300 TRERT S Fea =T | sEwET
ST, 7 Sedeh e O B YNGR sl SAred S a1
Bt 2

(a)~ 15

(b)
(c)
(d)

139
12-9
10-5

us qiten § 60 fonfat grr e of (ifereman
3-100) 39 TFR & :

60, 82, 63, 40, 88, 80, 24, 60, 09, 58, 44, 74

57, 60, 63, 30, 31, 64, 00, 62, 37, 54, 10, 99

35, 83, 58, 33, 92, 43, 66, 41, 78, 72, 32, 33

65, 11, 60, 17, 53, 93, 57, 03, 29, 31, 82, 50

63, 15, 41, 55, 72, 42, 32, 23, 30, 48, 67, 34

fora wferera (af~tene) ferenffa 3 wraiss 60 & tfee
7 36 TR, fhq 80 A FH E ?

(a)
(b)

250
267

(c)
(d)

283
30:0

100 N&OTT =T GG HIEF 50 T | SIS H, g IT=T 1
o 31 Y&uit 182 31X 56 I Terd! @ 82 31K 6 g foram
TRIT | SR AT R A RS 2

(a)
(b)
(c)
(d)

50-1
51-5
523
53-4



If 5000 more Kutcha houses are built, then
what will be approximate change in angle for
Kutcha houses in Pie Chart-I ?

(a)
(b)
(c)
(d)

1 14
13°
15°
23°

Consider the following for the next three (03) |917.
items that follow :
Study the following Pie Charts :
Chart-I : Number of houses : 1,20,000
..y PUCCA
98.
SEMI PUCCA “
Chart-II : Population : 21,00,000
LIVING IN
LIVING IN PUCCA HOUSES
KUTCHA HOUSES o
= 99.
HOUSELESS
/..y LIVING IN
SEMI PUCCA HOUSES
Chart-III : Number of families : 3,60,000
LIVING IN
7 PUCCA HOUSES
LVINGIN ¢ .» LIVING IN
T "SEMI PUCCA HOUSES
3
HOUSELESS
96. On an average, how many persons live in every 100
pucca house ?
(a) 8
(h): 854
(e) 954
d 754
CEBN-T-EMT (27-A)

If 300 families from the “Houseless” category
shift into Kutcha houses, what will be the
average number of families in every Kutcha

house ?
(a) 15
(b)" 213:9
(e):, " 12:9
(d 105

Marks obtained by 60 students in a test
(Maximum Marks-100) are given below :

60, 82, 63, 40, 88, 80, 24, 60, 09, 58, 44, 74
57, 60, 63, 30, 31, 64, 00, 62, 37, 54, 10, 99
35, 83, 58, 33, 92, 43, 66, 41, 78, 72, 32, 33
65, 11, 60, 17, 53, 93, 57, 03, 29, 31, 82, 50
63, 15, 41, 55, 72, 42, 32, 23, 30, 48, 67, 34

What is the percentage (approximate) of
students getting marks higher than or equal to
60 but less than 80 ?

(a) 250
(b) 267
(c) 283
(d 300

The arithmetic mean of 100 observations was
50. Later on, it was found that two observations
were misread as 82 and 6 instead of 182 and 56.
What is the value of the corrected mean ?

(a)
(b)
(c)
(d)

50-1
51-5
52-3
53-4
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : CEBN-T-EMT Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in
the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

i) There are four alternatives for the answer to every question. For each question for which a wrong answer

has lieen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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